
3528 Emery Street

PO BOX 23277

Los Angeles, CA 90023-0277

(323)262-4191  www.trimcobbw.com

email:info@trimcobbw.com

PRODUCTrimcoTEMPLATE NO.

This template is provided for use only on the job for which is was requested.

Trimco reserves the right to make design changes without notice. Trimco will

not be responsible for errors or damage caused by the use of out-of-date templates.

T

DATE

NOTE:

17224

SHT 1  OF  3

3815L

03/12/15

UL WOOD DOOR AUTO FLUSHBOLT

INSTALLATION INSTRUCTIONS

1) PREPARE INACTIVE DOOR AS SHOWN IN FIGURE 2. SEAL DOOR IMMEDIATELY. (TOP CORNER SHOWN)

 

2) PREPARE FRAME FOR ANSI A115.4 STRIKE AS IN FIGURE 3. LOCATE STRIKE TO LINE UP WITH BOLT.

 

3) INSTALL TRIMCO 3910 OR 3911 DUST PROOF STRIKE IN FLOOR (TEMPLATE AVAILABLE), OR ANSI 

    A115.4 STRIKE SHOWN IN FIGURE 3. LOCATE STRIKE TO LINE UP WITH BOLT. INSTALL STRIKE.

 

4) INSTALL TRIMCO 3815L AS SHOWN IN FIGURE 1.

 

5) HANG DOOR.

 

6) ADJUST BOLT SO WHEN FULLY RETRACTED TO PROVIDE 1/8" CLEARANCE BETWEEN BOLT AND STRIKE.

    TO ADJUST BOLT REMOVE SCREWS UNDERLINED IN FIGURE 1 AND REMOVE BOLT.

    ROTATE BOLT UP OR DOWN AS REQUIRED, THEN REPLACE BOLT.

 

7) PREPARE ACTIVE DOOR AS SHOWN IN FIGURE 4. TRIGGER STRIKE TO LINE UP WITH CENTERLINE OF

    TRIGGER AS SHOWN IN FIGURE 4. INSTALL STRIKE USING 2-NO. 8 X 1" SMS. SHIM AS

    REQUIRED TO PROVIDE 3/32 CLEARANCE BETWEEN INACTIVE DOOR AND TRIGGER STRIKE.

 

NOTE: FAILURE TO PRE-DRILL SCREW HOLES WILL VOID WARRANTY.

2-NO. 8 X 1/4" FHMS

  2-NO. 8 X 1" FH, PH, SMS

BOLT

TRIGGER

FIGURE 1

THESE SCREWS HAVE TO BE

REMOVED IN ORDER TO

INSTALL THE FACEPLATE,

THEN MUST BE RE-SCREWED

BACK IN PLACE

4 (2 EACH SIDE) NO.8 X 3/4" FH PH UC

COMBO MS/SMS SCREW,

AND 4X #10 WASHER
  3-NO. 8 X 3/4" FH PH UC

 COMBO MS/SMS SCREW

REVIS IO NS:

SHEET  1,  7/8" BACKSET WAS:  3/4 BACKSET ,  CHANG ED ALL SCREW CALLOUT S,

SHEET  2,  2 21/32 in WAS:  2  11/16 in,  17/32 in WAS:  1 /2 in,

ADDED 82°  T O 1/4 C'SNK HOL E,  8 1/4 i n W AS:  8 5/1 6 in ,

SHEET  3,  1 5/8 in W AS:  1 11/16 i n, CHANGED # 8 SCREWS, SGH/JG , 09/1 6/13

SHEET  1 OF  3,  3/4" BACKSET W AS:  7/8" BACKSET ,

SHEET  3 OF  3,  0.61  WAS:  5/8",  SGH/JG,  03/12/15

8 7/16 in

3/4" BACKSET



3528 Emery Street

PO BOX 23277

Los Angeles, CA 90023-0277

(323)262-4191  www.trimcobbw.com

email:info@trimcobbw.com

PRODUCTrimcoTEMPLATE NO.

This template is provided for use only on the job for which is was requested.

Trimco reserves the right to make design changes without notice. Trimco will

not be responsible for errors or damage caused by the use of out-of-date templates.

T

DATE

NOTE:

17224

SHT 2  OF  3

3815L

03/12/15

UL WOOD DOOR AUTO FLUSHBOLT

8 1/4 in

8 9/16 in

6 1/4 in

DRILL 1/8" HOLE

X 1'' DEEP, 2 PL

1 1/16 in

3/32 in

FACEPLATE

LOCATION

1/2 in

1/4 in

5 11/16 in

4 5/32 in

2 21/32 in

3/16 in

3/16 in

R1/4 in2X 

6 1/8 in

DRILL 1/8" HOLE

X 1" DEEP, 3 PL

GUIDE

LOCATION

1 3/4 in

DOOR

1 1/16 in

NOTE:

 

DIMENSIONS SHOWN ARE FOR TOP FLUSHBOLT.

FOR BOTTOM FLUSHBOLT INVERT AND MEASURE

FROM BOTTOM EDGE OF DOOR. USE TRIMCO

3910 OR 3911 DUST PROOF STRIKE WITH BOTTOM

BOLT.

 

* MINIMUM CLEARANCE REQUIRED.

3/8 in

3/16 in

2 in*

17/32 in

DRILL 3/16" HOLE THRU

C'SNK 1/4" DIA. x 82° 4 PL

5/8 in

FIGURE 2

TOP OF

DOOR

CL



3528 Emery Street

PO BOX 23277

Los Angeles, CA 90023-0277

(323)262-4191  www.trimcobbw.com

email:info@trimcobbw.com

PRODUCTrimcoTEMPLATE NO.

This template is provided for use only on the job for which is was requested.

Trimco reserves the right to make design changes without notice. Trimco will

not be responsible for errors or damage caused by the use of out-of-date templates.

T

DATE

NOTE:

17224

SHT 3  OF  3

3815L

03/12/15

UL WOOD DOOR AUTO FLUSHBOLT

CENTER LINE

OF TRIGGER

1/2 in

  2-NO. 8 X 1" FH, PH, SMS

1 1/2 in

1 in

1/4 in

1 in

.050

1 1/2 in

1 in

1/4 in

7/8 in

.030

1/16 in

15/16 in

15/32 in

2 1/4 in

1 5/8 in

3/4 in

FIGURE 3

FIGURE 4

2-NO. 8 X 3/4" FH PH UC MS/SMS COMBO SCREW

2-NO. 8 X 1" RAWL PLUGS

2-NO. 8 X 1" FH, PH, SMS

3/4" HOLE IN FRAME X 1" DEEP

9/16 in

ANSI 1154 STRIKE

DRILL 1/8" DIA HOLE X 1" DEEP

2 PLCS

SHIM

TRIGGER STRIKE

ACTIVE DOOR

0.61

1 5/8 in

2 1/2 in

4 in

5 1/2 in

11/16 in

5/16 in

1/2 in

3/8 in

1/4 in

GUIDE DETAIL

R1/4 in


	17224 SHT 1 OF 3.pdf
	17224 SHT 2 OF 3
	17224 SHT 3 OF 3

